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SSC GD  

1- Who among the following was the 

last ruler of the Nanda dynasty ? 

(A) Dhanananda  

(B) Mahapadamnand 

(C) Govishanaka (D) Kaivarta 
2- Who propounded the principle of 

'Peaceful Resistance' (Satyagraha)?  

(A) Bal Gangadhar Tilak  

(B) Aurobindo Ghosh 

(C) Lala Lajpat Rai   

(D) Mahatma Gandhi 
3- Article 17 of the Constitution of 

India deals with the abolition of 

............. 

(A) Untouchability(B) Sati 

(C) titles  (D) Slavery 
4- The supreme court has declared 

access to the Internet as a funda-

mental right under Article .......... 

of the Indian Consitution. 

(A) 19(B) 17    (C) 14(D) 21 

5- Where is the longest sea beach in 

India ? 

(A) Chapora beach(B) Diu beach 

(C) Aksa beach  

(D) Marina beach 
6- Which of the following valley is 

not located in Himachal Pradesh ? 

(A) Silent Valley 

(B) Chumbi Valley 

(C) Markha Valley   

(D) Malana Valley 

7- What is the expanded form of 

SMTP from computer science ? 
(A) Simple Markup Transfer Protocol 

(B) Systems Mail Transfer Protocol 

(C) Simple Mail Transfer Protocol 
(D) Systems Memory Transfer Protocol 

SSC GD 

1- fuEufyf[kr esa ls dkSu uan oa'k dk vafre 

'kkld Fkk\ 

(A) ?kukuan  (B) egkineuan 

(C) xksfo'kk.kd (D) dSorZ 

2- ^'kkafriw.kZ izfrjks/k* ¼lR;kxzg½ dk fl)kar 

fdlus izfrikfnr fd;k Fkk \ 

(A) cky xaxk/kj fryd   

(B) vjfon ?kks"k 

(C) ykyk yktir jk; 

(D) egkRek xka/kh 

3- Hkkjr ds lafo/kku dk vuqPNsn 17--------

-- ds mUewyu ls lacaf/kr gSA 

(A) vLi`';rk  (B) lrh izFkk 

(C) mikf/k;ksa  (D) nkl izFkk 

4- Hkkjrh; lafo/kku ds vuqPNsn----------ds 

varxZr loksZPp U;k;ky; us baVjusV dh 

igqap dks ekSfyd vf/kdkj ?kksf"kr fd;k gSA 

(A) 19  (B) 17 

(C) 14  (D) 21 

5- Hkkjr esa lcls yack leqnz rV ¼lh&chp½ 

dgka gS\ 

(A) piksjk rV   

(B) nho rV  

(C) vDlk rV   

(D) ejhuk rV  

6- fuEu esa ls dkSu&lh ?kkVh fgekpy izns'k 

esa fLFkr ugha gS\ 

(A) lkbysaV ?kkVh (B) pqEch ?kkVh 

(C) ej[kk ?kkVh (D) eyk.kk ?kkVh 

7- daI;wVj foKku ls ,l,eVhih dk foLrkfjr 

:i D;k gS\ 

(A) flaiy ekdZvi VªkalQj izksVksdkWy  

(B) flLVe esy VªkalQj izksVksdkWy 

(C) flaiy esy VªkalQj izksVksdkWy  

(D) flLVe eseksjh VªkalQj izksVksdkWy 



 

 

3 

8- Through which of the following 

medium does sound pass with 

intensity ? 

(A) Vacuum (B) Solid 

(C) Liquid  (D) Gas 
9- Which method is used to test the 

hardness of water ? 

(A) Boiling  

(B) Distillation 

(C) Formation of foam with soap 

(D) None of these  
10- In a healthy person, the diastolic 

pressure (in Hg k.m.s) is............... 

(A) 60  (B) 80 

(C) 100  (D) 120 

11- In which of the following years the 

Government of India constituted 

the Monetary Policy Committee ? 

(A) 2019  (B) 2008 

(C) 2016  (D) 2010 

12- The Reserve Bank of India also 

functioned as the central bank till 

April, 1947. 

(A) Sri Lanka (B) Burma 

(C) Nepal  (D) to Bhutan 
13- Which of the following is not a 

classical dance of India ? 

(A) Kathakali (B) Bhangra 

(C) Odissi   

(D) Mohiniyattam 
14- Kalaripattu is the famous martial 

art of which Indian state ? 

(A) Tamil Nadu (B) Karnataka 

(C) Odisha  (D) Kerala 
15- In which state is the festival of 

Flamingo celebrated ? 

(A) Karnataka (B) Kerala 

(C) Andhra Pradesh   

(D) Maharashtra 

8- /ofu] fuEufyf[kr esa ls fdl ek/;e ls 

rhozrk ls xqtjrh gS\ 

(A) fuokZr  (B) Bksl 

(C) rjy  (D) xSl 

9- ikuh dh dBksjrk dh tkap djus ds fy, 

fdl fof/k dk iz;ksx fd;k tkrk gS\ 

(A) DoFku  (B) vklou 

(C) lkcqu ls >kx cukuk   

(D) buesa ls dksbZ ugha 

10- ,d LoLFk O;fä esa MkbLVksfyd nkc ¼,p-

th-ds-,e-,l- esa½----------gksrk gSA 

(A) 60  (B) 80 

(C) 100  (D) 120 

11- fuEufyf[kr esa ls fdl o"kZ esa Hkkjr 

ljdkj us ekSfnzd uhfr lfefr dk xBu 

fd;k Fkk \ 

(A) 2019  (B) 2008 

(C) 2016  (D) 2010 

12- Hkkjrh; fjtoZ cSad us vizSy] 1947 rd 

Hkh dsanzh; cSad ds :i esa dk;Z fd;kA 

(A) Jhyadk  (B) cekZ 

(C) usiky  (D) HkwVku ds fy, 

13- fuEufyf[kr esa ls dkSu&lk Hkkjr dk 

'kkL=h; u`R; ugha gS\ 

(A) dFkdyh  (B) HkkaxM+k 

(C) vksfM'kh   

(D) eksfguhvêe 

14- dykjhiêw fdl Hkkjrh; jkT; dh izfl) 

;q) dyk gS\ 

(A) rfeyukMq  (B) dukZVd 

(C) vksfM'kk  (D) dsjy 

15- ¶ysfeaxks dk R;kSgkj fdl jkT; esa euk;k 

tkrk gS\ 

(A) dukZVd  (B) dsjy 

(C) vka/kz izns'k  

(D) egkjk"Vª 

 



 

 

4 

16- Who wrote the book 'The Ickabog' 

?  

(A) Megan Miranda 

(B) Jk Rowling 

(C) Ruskin Bond  

(D) Malala Yousafzi 
17- Jan Koum and Brian Action are 

the founders of which of the 

following messaging applications ? 

(A) Hike   

(B) Skype 

(C) WhatsApp  

(D) Snapchat 
18- Where is the headquarter of 

International Hockey Federation 

(FIH) located ? 

(A) Nepal  

(B) Switzerland 

(C) Bhutan   

(D) Australia 
19- Where has the 7

th
 edition of 'Amur 

Falcon Festival' been celebrated 

recently ? 

(A) Bihar   

(B) Madhya Pradesh 

(C) Manipur  

(D) Haryana 
20- Who has recently been elected the 

'first female President' of Slovenia 

? 

(A) Natasa Perk Musser  

(B) Nicki Minaj 

(C) Harry styles  

(D) None of these 

 

 

 

 

 

16- ^n bdkckWx* iqLrd fdlus fy[kk gS\ 

(A) esxu fejkaMk  

(B) tsds jksfyax 

(C) jfLdu ckaM  

(D) eykyk ;wlqQtbZ 

17- tSu dwe vkSj czk;u ,DVu fuEu esa ls 

fdl eSlsftax ,Iyhds'ku ds laLFkkid gSa\ 

(A) gkbd   

(B) Ldkbi 

(C) OgV~l,Ii   

(D) LusipSV 

18- varjjk"Vªh; gkWdh egkla?k (FIH) dk 

eq[;ky; dgka vofLFkr gS\ 

(A) usiky   

(B) fLoV~tjySaM 

(C) HkwVku   

(D) vkWLVsªfy;k 

19- gky gh esa ^vewj QkYdu QsfLVoy* dk 

7oka laLdj.k dgk¡ euk;k x;k gS\ 

(A) fcgkj   

(B) e/; izns'k 

(C) ef.kiqj   

(D) gfj;k.kk 

20- gky gh esa Lyksosfu;k dh ^igyh efgyk 

jk"Vªifr* dkSu pquha x;ha gSa\ 

(A) urklk idZ eqlj  

(B) fudh feukt 

(C) gSjh LVkbYl  

(D) buesa ls dksbZ ugha  
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 MATH 
21. If the cost price of 10 articles is 

equal to the selling price of 7 

articles, then the gain or loss 

percent will be. 

(A) 51% ykHk (B) 42% ykHk 

(C) 51% gkfu (D) 42% gkfu 

22. A walks on foot at the speed of 4 

km/h, after 4 hours B follows him 

by bicycle at the speed of 10 km/h, 

then at what distance B,A from the 

starting point. Who will catch 

(A) 16-7 km/h (B) 18-6 km/h 

(C) 21-5 km/h (D) 26-7 km/h 

23. Two trains are running in the same 

direction at the speed of 30 km/h and 

58 km/h. A man sitting in a slow 

moving train crosses a man sitting in 

a fast moving train in 18 seconds, 

then the length (in metres) of the fast 

train is 

(A) 70    (B) 100   

(C) 128     (D) 140 

24. A solution of 32 liters of alcohol 

contained 12% water. 26 liters of 

alcohol evaporates, then what will 

be the percentage of water in the 

remaining solution? 

(A) 64%  (B) 20% 

(C) 17.5%  (D) 58% 

25. The average monthly expendi-ture 

of Naveen for 8 months is Rs. 250 

for the next 4 months. Is. If he had 

earned Rs.1500 in that year. What 

is his average monthly income? 

(A) Rs. 745.50  

(B) Rs. 348.33 

(C) Rs. 525   

(D) Rs. 778 

 

 

MATH 
21- ;fn 10 oLrqvksa dk Ø; ewY; 7 oLrqvksa 

ds foØ; ewY; ds cjkcj gks] rks ykHk ;k 

gkfu izfr'kr gksxkA 

(A) 51% ykHk (B) 42% ykHk 

(C) 51% gkfu (D) 42% gkfu 

22. A] 4 fdeh@?k.Vk dh pky ls iSny 

pyrk gS] mlds 4 ?k.Vs ckn B lkbfdy 

}kjk 10 fdeh@?k.Vk dh pky ls mlds 

ihNs pyrk gS] rks izkjfEHkd LFkku ls 

fdruh nwjh ij B, A dks idM+ ysxk \ 

(A) 16-7 fdeh (B) 18-6 fdeh 

(C) 21-5 fdeh (D) 26-7 fdeh 

23- nks jsyxkfM+;k¡ ,d gh fn'kk esa 30 

fdeh@?k.Vk rFkk 58 fdeh@?k.Vk dh pky 

ls py jgh gSA /kheh xfr ls pyus okyh 

xkM+h esa cSBk ,d O;fä rhoz xfr ls pyus 

okyh jsyxkM+h esa cSBk vkneh dks 18 

lsd.M esa ikj djrk gS] rks rhoz xfr 

okyh jsyxkM+h dh yEckbZ ¼ehVj esa½ gS 

(A) 70  (B) 100 

(C) 128  (D) 140 

24- 32 yhVj ,Ydksgy ds foy;u esa 12% 

ty FkkA 26 yhVj ,Ydksgy mM+ tkrk gS] 

rks 'ks"k foy;u esa ikuh izfr'kr ek=k D;k 

gksxh \ 

(A) 64%  (B) 20% 

(C) 17.5%  (D) 58% 

25- uohu dk 8 eghus dk vkSlr ekfld [kpZ 

210 #- gS rFkk vxys 4 eghus dk 250 

#- gSA ;fn mlus ml o"kZ 1500 #- dh 

cpr dh] rks mldh ekfld vkSlr vk; 

D;k gS\ 

(A) Rs. 745.50  

(B) Rs. 348.33 

(C) Rs. 525   

(D) Rs. 778  
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26. The radius of the base of a cone 

and its height are 3 cm 

respectively. and 5 cm. while the 

radius of the base of a cylinder and 

its height are 2 cm and 4 cm 

respectively. Is. The ratio of the 

volume of the cone to the volume 

of the cylinder will be 

(A) 15 : 8  (B) 45 : 16 

(C) 15 : 16  (D) 1 : 3 

27. The area of a square is 32 cm. is 

equal to the area of a rectangle of 

length. The perimeter of the 

rectangle is 80 cm. Is. What is the 

side of the square? 

(A) 26cm-  (B) 8cm- 

(C) 32cm-  (D) 16cm- 

28. A box contains pens, pencils and 

erasers in the ratio 3 : 2 : 1. If the 

cost of each pen, pencil and eraser 

respectively is Rs. 3, 12 and 12 

and the total amount spent on the 

whole box is Rs. 720, then find the 

number of pens in the box. 

(A) 144(B) 142(C) 140(D) 138 

29. A shopkeeper sold an item for Rs. 

450, and got it for Rs. Sold for 

360. Find the loss percentage. 

(A) 35(B) 20(C) 25(D) 30 

30. Find the area of an equilateral 

triangle whose side is 114 cm. (in 

bo2) 

(A) 325903  (B) 32493 

(C) 3279/3  (D) 3269/3 

31. 3990 each of two cycles – Rs. so 

that there is a profit of 5% on one 

and a loss of 5% on the other, then 

the percentage of profit or loss on 

the whole line is 

(A) No Praflt No loss(B) 2-5%Praflt 

(C) 2.5%loss (D) 0.25% loss 

26- ,d 'kadq ds vk/kkj dh f=T;k rFkk mldh 

Å¡pkbZ Øe'k% 3 lseh- rFkk 5 lseh- gS] 

tcfd ,d csyu ds vk/kkj dh f=T;k rFkk 

mldh Å¡pkbZ Øe'k% 2 lseh] rFkk 4 

lseh- gSA 'kadq ds vk;ru dk csyu ds 

vk;ru ls vuqikr gksxkA 

(A) 15 : 8  (B) 45 : 16 

(C) 15 : 16  (D) 1 : 3 
27- ,d oxZ dk {ks=Qy 32 lseh- yEckbZ okys 

,d vk;r ds {ks=Qy ds cjkcj gSA 

vk;r dk ifjeki 80 lseh- gSA oxZ dh 

Hkqtk fdruh gS\ 

(A) 26 lseh-  (B) 8 lseh- 

(C) 32 lseh-  (D) 16 lseh- 

28- ,d ckWDl esa isu] isafly] vkSj jcM 3 % 

2 % 1 ds vuqikr esa gSA ;fn izR;sd isu] 

isafly vkSj jcM+ ds ewY; Øe'k% #- 3] 

12 vkSj 12 gSa vkSj iwjs fMCcs ij [kpZ 

dh x;h dqy jkf'k #- 720 gSa] rks ckWDl 

esa isuksa dh la[;k Kkr djsaA 

(A) 144  (B) 142 

(C) 140  (D) 138 

29. ,d nqdkunkj us ,d oLrq #- 450 esa 

[kjhnh] vkSj mls #- 360 esa csp fn;kA 

gkfu izfr'kr Kkr djasA 

(A) 35(B) 20(C) 25(D) 30 

30- ml leckgq f=Hkqt dk {ks=Qy Kkr 

dhft;s ftldh Hkqtk 114 cm gSA ¼cm2 

esa½ 

(A) 325903 (B) 32493 

(C) 3279/3  (D) 3269/3 
31- nks lkbfdyksa&esa ls izR;sd 3990 #- esa 

csph x;h ftlls ,d ij 5% dk ykHk 

vkSj nwljh ij 5% dh gkfu gqbZ] rks iwjs 

lkSns esa ykHk ;k gkfu dk izfr'kr gS 

(A) u ykHk u gkfu (B) 2-5% ykHk 

(C) 2.5% gkfu (D) 0.25% gkfu 
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32. The number (in thousands) of 

vehicles manufactured by 

companies X and Y from the year 

2001 to 2006 is given. In which of 

the given years the difference in 

production between Company X 

and Company Y was the least? 

 
(A) 2002  (B) 2005 

(C) 2004  (D) 2003 

33. If the value of 80% of 75%of 

66.67% of 25% of a number is 

6367, then find the value of 40% 

of that number. 

(A) 25568  (B) 25468 

(C) 25578  (D) 25478 

34. Find the amount (in Rs) obtained 

at compound interest on 17,800 in 

2 years at the rate of 10% per 

annum. 

(A) 21,538  (B) 21,638 

(C) 21, 838  (D) 21,733 

35. Simplify: 

 (1221 +  (7 +  (166 +  225))) 

(A) 45  (B) 32 

(C) 35  (D) 28 

36. Simplify: 
120-[450-(90÷10-(35-300÷12)÷ 

10)] 

(A) 344  (B) -344 

(C) -322  (D) 322 

32- dEiuh X vkSj Y }kjk o"kZ 2001 ls 

2006 rd fd, x, okguksa ds fuekZ.k dh 

la[;k ¼gtkj esa½ nh xbZ gSA dEiuh X 

vkSj dEiuh Y ds chp mRIkknu dk varj 

fn, x, o"kksa esa fdl o"kZ lcls de Fkk \ 

 
 

(A) 2002  (B) 2005 

(C) 2004  (D) 2003 

33- fdlh la[;k ds 80% ds 75% ds 66-

67% ds 25% dk eku 6367 gS] rks ml 

la[;k ds 40% dk eku Kkr djsaA  
(A) 25568  (B) 25468 

(C) 25578  (D) 25478 

34- 10% dh okf"kZd nj ls 2 lky esa 

17]800 ij pØo`f) C;kt ls izkIr gksus 

okyh jkf'k ¼#- esa½ Kkr dhft,A 

(A) 21,538  (B) 21,638 

(C) 21, 838  (D) 21,733 

 

35- ljy djsa%  
 

 (1221 +  (7 +  (166 +  225))) 

(A) 45  (B) 32 

(C) 35  (D) 28 

36- ljy djsa% 120 - [450-(90÷10-(35-

300÷ 12) ÷ 10)] 

(A) 344  (B) -344 

(C) -322  (D) 322 
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37. The interest obtained after 5 years 

at the rate of 12% per annum on a 

certain sum of money at simple 

interest is Rs. 6,060. Find the 

amount invested (in Rs.). 

(A) 9, 800   

(B) 9,900 

(C) 10,100   

(D) 10,200 

38. LCM of two numbers (least 

common denominator) and m.s. 

(Greatest Common Factor) are 132 

and 22 respectively. The first 

number among them is 132, find 

the second number. 

(A) 11   

(B) 22 

(C) 66  (D) 33 

39. Which of the following is the 

smallest fraction? 

5@13] 5@20] 8@64] 25@1000 

(A) 3/15   

(B) 5/20 

(C) 8/64   

(D) 25/1000 

40. Pipe . and pipe B can fill a tank in 

40 min and 80 min respectively. 

Both the pipes are opened 

simultaneously for some time and 

then pipe A is closed. If a is the 

total time to fill the tank, then for 

how long was pipe A open? 

(A) 10 min   

(B) 20 min 

(C) 15 min   

(D) 5 min 

37- ,d fuf'pr jkf'k ds fy, lk/kkj.k C;kt 

ij 12 % dh okf"kZd nj ls 5 o"kZ ds 

ckn izkIr C;kt #- 6]060 gSA fuosf'kr 

jkf'k ¼#-esa Kkr djsa½A 

(A) 9, 800  (B) 9,900 

(C) 10,100  (D) 10,200 

38- nks la[;kvksa dk y-l- ¼y?kqÙke lekioR;Z½ 

vkSj e-l- ¼egÙke lekiorZd½ Øe'k% 

132 vkSj 22 gSA muesa ls igyh la[;k 

132 gSa] nwljh la[;k Kkr djsaA 

(A) 11  (B) 22 

(C) 66  (D) 33 

39- fuEu esa ls lcls NksVh fHkUu dkSu&lh gS\ 

5@13] 5@20] 8@64] 25@1000 

(A) 3/15  (B) 5/20 

(C) 8/64  (D) 25/1000 

40- ikbi A vkSj ikbi B Øe'k% 40 min 

vkSj 80 min esa ,d Vsad Hkj ldrs gSaA 

nksuksa ikbi dqN le; ds fy, ,d lkFk 

[kksys tkrs gSa vkSj fQj ikbi B can fd;k 

tkrk gSA ;fn Vsad dks Hkjus dk dqy le; 

gS] rks ikbi B fdruh nsj rd [kqyk Fkk\ 

(A) 10 min  (B) 20 min 

(C) 15 min  (D) 5 min 

fgUnh 

41- 'kCndks'k esa ^{k* dk LFkku fdl o.kZ ds 

ckn gSA 

(A) d   (B) t 
(C) 'k   (D) l 

42- ^o`{kPNk;k* 'kCN fdl laf/k dk mnkgj.k 

gSA 

(A) Loj  (B) O;atu 
(C) folxZ  (D) dksbZ ugha 

43- ^ihrolu* 'kCn fdl lekl dk mnkgj.k 

gS  

(A)rRiq#"k   
(B)deZ/kkj; 
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(C) cgqozhfg   
(D)vO;;h Hkko  

44- ^laHko* 'kCn esa milxZ D;k gksxk\ 

(A)le~   
(B)Hko 
(C) laHk   
(D)dksbZ ugh 

45- eksguA ckgj fudy tkvksaA fdl izdkj 

dk okD; gSA 

(A)fof/k okpd  
(B)bPNk okpd 
(C) vkKk okpd  
(D)ladsr okpd 

46- ^v;ksX; O;fDr dks mÙke oLrq feyuk* 

okD; ds fy, mi;qDr yksdksfDr dk p;u 

djsA 

(A)dksSvk Hkh gkM+ u ys tk,xk  
(B)va/ksj uxjh pksSiV jktk]  
(C) NNwanj ds flj ij pesyh dk rsy  
(D)dksbZ ugha 

47- ^d`fr* 'kCn dk lekukFkhZ gksxkA 

(A)iz'kalk  (B)djus okyk 
(C) dhfrZ  (D)jpuk 

48- ^fo|qr* 'kCn dk i;kZ;okph pqusA 

(A)xtZu  (B)nkfeuh 
(C) ped  (D)i;ksn 

49- ean dk foykse 'kCn pqusA 

(A)lqDr  (B)nzqr 
(C) 'kh?kz  (D)Rofjr 

50- 'kq) orZuh dj p;u djsA 

(A)lkrkcnh  (B)'krkfCn 
(C) lrkCnh  (D)'krkCnh 

51- 'kq) orZuh dk p;u djsaA 

(A)mrlo  (B)ifj{kk 
(C) }kjdk  (D)vfgY;k 

52- fof/k okpd okD; dk p;u djsa 

(A)gks ldrk gS eSa tUefnol ij fe=kas 

dks cqykÅ¡A    
(B)eSus dy gh ;g xsan [kjhnh FkhA 
(C) deZ djks Qy dh bPNk er djksA 
(D)rqe lc lq[kh jgksA 

53- ^gj dke dks nsj ls djus okyk* ds fy, 

lgh fodYi dk p;u djasA 

(A)nh?kZlw=h   
(B)foyEch 
(C) nh?kZn'khZ   
(D)dksbZ ugha 

54- dkSu lk fodYi rn~Hko gS\ 

(A)pkSng  (B)vfXu 
(C) ohj  (D)HkDr 

55- dkSu lk fodYi cgqopu gS\ 

(A)ikuh  (B)o"kkZ 
(C) turk  (D)vk¡lw 

56- dkSu lk fodYi L=hfyax gS\ 

(A)eksrh  (B)vkx 
(C) nw/k  (D)dksbZ ugha 

57- 'kq) fodYi crk,A 

(A)mlus v/;{k dks fuosnu fd;kA  
(B)mlus v/;{k ls fuosnu fd;kA 
(C) dPps rsy dh dher c<+ xbZ gSA 
(D)og lc Hkys yksx gSaA 

58- v'kq) fodYi Nk¡fV,A 

(A)og lkjs xqIr jgL; izdV dj nsxkA 

(B)iqLrd est ij j[kh gSA 
(C) ;g esjs liuksa dk ?kj gSA  
(D)lHkh v'kq) fodYi gSA 

59- daB ls mPpkfjr gksus okyk o.kZ gS& 

(A);   (B)'k 
(C) >   (D)x 

60- uSfrd 'kCn esa izR;; crk,A 

(A)uS   (B)frd 
(C) d   (D)bd 
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ENGLSIH 

Directions (Qs. No. 41 - 45) :In the 

following questions, some parts of the 

sentence have errors and some have 

none, Find out which part of a sentence 

has an error. The number of that part is 

your answer. If a sentence is free from 

error, then your answer is (D), i.e No 

error.  

41. ‘Gulliver’s Travels’ (A)/ are 

indeed (B)/ an Interesting book. 

(C)/No error (D) 

42. Either Parmeet (A)/ or Jyoti (B)/ 

have done the crime. (C)/ No error 

(D) 

43. The streets (A)/ are so wet (B)/ it 

should have, rained last night. (C)/ 

No error (D) 

44. Our vacations is (A) between 12 

May (B)/ to 12 June. (C)/ No error 

(D) 

45. He is very angry on me (A)/ 

because I failed (B)/ to return his 

book. (C)/ No error (D) 

 Directions (Qs. No. 46 to 47): in the 

following questions, choose the word 

opposite in meaning to the given word as 

your answer.  

46. Barren  

 (A) frigid  (B) fertile 

 (C) fallow  (D) ferrous 

47. Hostile  

 (A) host   (B) proud 

 (C) systematic  (D) 

sympathetic 

 Directions (Qs. No. 48 to 49) : in the 

following questions, out of the four 

alternatives, choose the one which best 

expresses the meaning of the given word 

as your answer.  

48. Absurd 

 (A) diligent  (B) ridiculous 

 (C) brisk  (D) complex 

49. Solitary 

 (A) sad  (B) voluntary 

 (C) subtle  (D) lonely  

Directions (Qs. No. 50 to 51): In the 

following questions, four alternatives are 

given for the idiom/Phrase printed in 

bold in the sentence. Choose the 

alternative which best expresses the 

meaning of the Idiom/Phrase as your 

answer.  

50. Her mother saw through the 

excuse she gave. 

(A) revealed (B) detected 

(C) viewed  (D) hacked 

51. She has a bee in her bonnet and 

can say anything.  

(A) is a crazy person  

(B) is a frank person 

(C) is a foolish person  

(D) is a proud person 

Directions (Qs. No. 52 to 53) : In the 

following questions, out of the four 

alternatives choose the one which can be 

substituted for the given words/sentence  

52. A hater of women  

(A) claustrophobia  

(B) misogynist 

(C) misanthropist  

(D) eve-teaser 

53. Easy to shape in any desired form  

(A) ductile  (B) malleable  

(C) flexible  (D) plasticine  

Directions (Qs. No. 54 to 55) : In the 

following questions, there are four 

different words out of which one is 

correctly spelt. Find the correctly spelt 

word as your answer.  

54. (A) Mischievous(B) Mischeivious 
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(C) Mischeivous (D) Mischevious 

55. (A) Incidentally (B) Incidantelly 

(C) Incidentaly (D) Incidentelly  

 

PASSAGE 

Copyrightwww.examrace.com 

Some religious teachers have taught that 

man is made up of a body and a soul: 

But they have been silent about the 

Intellect. Their followers try to feed the 

body on earth and to save soul from 

perdition after death: But they neglected 

the claims of the mind. Bread for the 

body and Virtue for the soul: These are 

regarded as the indispensable requisites 

of human welfare here and hereafter. 

Nothing is said about knowledge and 

education. Thus Jesus Christ spoke much 

of feeding the hungry, healing the sick, 

and converting the sinners: But he never 

taught the duty of teaching the ignorant 

and increasing scientific knowledge. He 

himself was not a well-educated man, 

and intellectual pursuits were beyond his 

horizon. Gautam Buddha also laid stress 

on morality, meditation and asceticism, 

but he did not attach great importance to 

history, science, art or literature. St. 

Ambrose deprecated scientific studies 

and wrote, to discuss the nature and 

position of the earth does not help us in 

our hope for life to come. St. Basil said 

very frankly and foolishly, It is not a 

matter of interest for us whether the 

earth is a sphere or a cylinder or disc. 

Thomas Carlyle also followed the 

Christian traditions when he declared 

that he honoured only two men and no 

third: The manual labour and the 

religious teacher. He forgot the scientist, 

the scholar and the artist. The cynics of 

Greece despised education at last ? 

56. What have the religious teacher 

taught in the Past ? 

(A) That man is made up of body 

only. 

(B) That man is made up of soul 

only.  

(C) That man is made up of 

bubbles. 

(D) That man is made up of body 

and soul together. 

57. What is food for the soul ? 

(A) Bread  (B) Virtue 

(C) Vice  (D) Education  

58. The following philosophers occur 

in the passage. But they are not in 

correct order. Correct the order  

(I). Jesus Christ  

(II) Gautam Buddha  

(III) St. Ambrose  

(IV) Thomas Carlyle 

(V) St. Basil  

(A) I, II, III, IV, V  

(B) I, III, IV, V, II 

(C) I, II, III, V, IV   

(D) II, I, III, IV, V 

59. Intellectual pursuits have been 

neglected because: (I) they are 

unnecessary and superfluous. (II) 

they make people dwarf.(III) they 

lead people to hell. 

(A) Only I is correct  

(B) Only II is correct  

(C) Only III is correct  

(D) Only I and II are correct  

60. The style of the passage is  

(A) narrative (B) expository  

(C) critical  (D) Analytical  

http://www.www.examrace.com/
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 RESONING TEST 

61- Looking at a protrait of a man 

harsh said, "his mother is the wife 

of my father's son. Brother and 

sister I have none". Af whose 

portrait was harsl looking ? 

(A) His son (B) His cousin 

(C) His uncle (D) His nephew 
62- Select the related word from the 

given afternationes. 

Garden : Plants :: Book : ....? 

(A) Words  (B) Pages 

(C) Writting (D) white 
63- Rakesh is 6 ranks a head of Tanvir 

in a class of 42 students. If tanvis's 

rank is eighteenth from the last, 

Then what is Rakesh's Rank from 

the start ?  

(A) 14
th

  (B) 15
th

 

(C) 19
th

  (D) 17
th

 
64- Arrenges the given words in the 

sysence in which they occur in the 

dictionarey. 

1. First 2. Frown  3. Fist 

4. Fast 5. Floor   

(A) 13542  (B) 41523 

(C) 41352  (D) 13452 
65- Assertopm(A) : The indian consti-

tution came into force. From 26 

January 1950. 

Reason (R): 26 January is cele 

brated as republic day 

(A) A & R both are wong  

(B) A & R both are true, R is hot 

correct explaination of A 

(C) A is correct but R is wrong 

(D) A is wrong but R is correct 
66- If 6 : 222 : : 7 : ? 

(A) 350  (B) 343 

(C) 336    (D) 210 

RESONING TEST 

61- ,d vkneh dk fp= ns[krs gq,s g"kZ us dgk 

^^mldh ekrk esjs firk ds iq= dh iRuh 

gSA rFkk mldk dksbZ HkkbZ&cfgu ugha gSA** 

g"kZZ fdldk fp= ns[k jgk gSA 

(A) mlds iq= dk 

(B)mlds ppsjs HkkbZ dk 

(C) mlds pkpk dk (D)mlds Hkrhts dk 

62- fuEu iz'u esa] fn,s x;s fodYiks esa ls 

lacaf/kr 'kCn dk p;u djsaA 

cxhpk % ikS/ks %% fdrkc %---------\ 

(A) 'kCn  (B) ist 

(C) fy[kuk  (D) lQsn 

63- jkds'k 42 Nk=ksa dh d{kk eas ruohj ls 6 

jSad vkxs gS vxj ruohj dh jSad vkf[kjh 

ls vBkjgoha gS] rks jkds'k dh jSad 'kq: ls 

D;k gSA 

(A) 14
th

  (B) 15
th

 

(C) 19
th

  (D) 17
th

 
64- fn, x, 'kCnksa dks ml Øe esa O;ofLFkr 

djas ftles os 'kCndks'k esa gksrs gSaA 

1. First 2. Frown  3. Fist 

4. Fast 5. Floor   

(A) 13542  (B) 41523 

(C) 41352  (D) 13452 

65- vfHkØeu(A) % Hkkjrh; lafo/kku 26 

tuojh] 1950 ls ykxw gqvk 

dkj.k(A) % 26 tuojh] x.kra= fnol ds 

:i esa euk;k tkrk gSA  

(A) A & R both are wong  

(B) A & R both are true, R is hot 

correct explaination of A 

(C) A is correct but R is wrong 

(D) A is wrong but R is correct 

66- ;fn 6 : 222 : : 7 : ? 

(A) 350  (B) 343 

(C) 336  (D) 210 
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67- If, HEAR is written as KJHA, 

What can MILK be written as ? 

(A) PTNS  (B) PNTS 

(C) PNST  (D) PTSN 

68- Find odd one out. 

(A) 63  (B) 23 

(C) 17  (D) 13 

69- Compelete the series – 

16, 17, 21, 30, 46, ? 

(A) 81  (B) 71 

(C) 77  (D) 63 

70- Choose the one that is different or 

incompatible from the following 

options. 

(A) LQ  (B) PK 

(C) HS  (D) CX 

71- KLM _ KL _ NK _ MN _ LMN 

(A) NMLK  (B) KLMN 

(C) LKNM  (D) KLNM 

72- If p represonts (f), Q represnts (-), 

R representh (x), Then the value of 

will be- (10 R 4) P (4 R 4) Q 6 

(A) 65  (B) 56 

(C) 50  (D) 60 

73- If GUM = 4944126 

Wax = ? 

(A) 5291576 (B) 2891400 

(C) 3611121 (D) 8412525 

74- Statements  

Some pepers are pencils 

Some pencilp are rubber 

All are rubber coaches 

Concfusions :- 

1. Some rubber is paper 

2. Some papers are Coaches 

75- TSAE : TSEW :: HTRON : .......... 

(A) HTSOU (B) HTUOS 

(C) HTSUO (D) HTSKU 

 

67- ;fn HEAR dks KJHA fy[kk tk, rks 

MILK dks D;k fy[kk tk ldrk gS\ 

(A) PTNS  (B) PNTS 

(C) PNST  (D) PTSN 

68-  fo"ke dk irk yxk,aA 

(A) 63  (B) 23 

(C) 17  (D) 13 

69- Ük`a[kyk iw.kZ djsa& 

16, 17, 21, 30, 46, ? 

(A) 81  (B) 71 

(C) 77  (D) 63 

70- fuEufyf[kr fodYiksa esa ls fHkUu ;k 

vlaxr dks pqusaA 

(A) LQ  (B) PK 

(C) HS  (D) CX 

71. KLM _ KL _ NK _ MN _ LMN 

(A) NMLK  (B) KLMN 

(C) LKNM  (D) KLNM 

72- ;fn p izfrfuf/kRo djrk gSA(f), Q 

izfrfuf/kRo djrk gS (-) izfrfuf/kRo djrk 

gSA (x), rks dk eku gksxk&(10 R 4) P 

(4 R 4) Q 6 

(A) 65  (B) 56 

(C) 50  (D) 60 

73- ;fn GUM = 4944126 

Wax = ? 

(A) 5291576 (B) 2891400 

(C) 3611121 (D) 8412525 

74- dFku 

dqN isij isafly gaSA 

dqN isafly jcj gSaA 

lHkh jcj fMCcs gSaA 

fu"d.kZ %& 

1- dqN jcj isij gSaA 

2- dqN isij fMCcs gaSA 

75. TSAE : TSEW :: HTRON : .......... 

(A) HTSOU (B) HTUOS 

(C) HTSUO (D) HTSKU 
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76- There are so many singers and 

students. 

 

(A) 20(B) 21(C) 18(D) 14 
77-  

 

(A) 178  (B) 252 

(C) 378  (D) 630 

78- From the given alteenations. Soleet 

the word which cannot be formed 

using the letters of the given word. 

ESTABLISH MENT 

(A) TABLE  (B) BLUNT 

(C) TENTS  (D) STATE 

79- From the given answer figures, 

select the one in which the ques-

tion figure is hidden/ embedded. 

 

 

80- A piece of paper is folded and cut 

as shown below in the question 

figures. From the piven answer 

figures, indicate how it will appear 

when opened. 

 

 

 

76- fdrus xk;d] Nk= gSA 

 
(A) 20(B) 21(C) 18(D) 14 

77-  

 

(A) 178  (B) 252 

(C) 378  (D) 630 

78- fn, x, vyadj.kksa ls og 'kCn pqfu, tks 

fn, x, 'kCn ds v{kjksa dk iz;ksx djds 

ugha cuk;k tk ldrk gSA 

ESTABLISHMENT 

(A) TABLE  (B) BLUNT 

(C) TENTS  (D) STATE 

79- nh xbZ mÙkj vkd`fr esa ls ml ,d dk 

p;u djsa ftlesa iz'u vkd`fr fNih@ 

,EcsMsM gSA 

 

 

80- dkxt ds ,d VqdM+s dks eksM+dj dkV fn;k 

tkrk gS] tSlk fd uhps ç'u vkd`fr;ksa esa 

fn[kk;k x;k gSA fn, x, mÙkj fp=ksa ls 

bafxr djsa fd [kksys tkus ij ;g dSlk 

fn[kkbZ nsxkA 
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PhoolbaghBranch-Near BankofIndia,aboveZayka restaurantMLB road, PhoolBaghChaurah, 
Gwalior (MP),474002, Contactno.- 0751-4062762,09826228312,09074585746,07770838222 
 

Pinto Park Branch- Near Vivekanand school, abovecentral Bank of India, Pinto parkTirah  
BhindRoad Gwalior,  Contactno. - 0751-4084370,06263057572,07828693940 
 

Thatipur Branch- 54 Mayur Market, above Raymond Showroom Near Petrol Pump 
thatipurChaurah, Gwalior (MP), Contact no.- 9630885746,  9074585746 
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